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Note .— The question paper is divided into two Sections sl ¥

A and B. Section ‘A’ contains 8 Very Short Answer

. %11 =
Type Questions. Examinees have to attempt any Section-A x17:=6

Sour questions. Each question is of 1'2 marks and (@Ug—33)

maximum word limit may be 30 words. Section

_ . Very Short Answer Type Questions
‘B’ contains 8 Short Answer Type Questions.

Examinees will have to answer any four questions. (fa &g 3T ue)

Each tion is of 10 ks. E i have t . :
ach question 15 © fharks. bxaminees fave 1o 1. (1) Define Shift operator and Inverse operator.

delimit each answer in maximum 200 words. Use
of non-programmable scientific calculator 1is feream W T WiaA™ WERE w1 Afefoa

allowed in this paper. HIfT |
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(ii) Define Factorial Function. (vii) Write the formula of solenoidal vector

irrotational vector.

IO e sl qRHTa Shifsg |
uRHAITerR I @iy Te Sl wfeen w1 g fofey |

(111) Write the formula of first divided difference.
(viii) Write the formula of angle between two

g fauifs =R 1 g3 fafem)

surfaces.
(iv) Write the formula of central difference T J& & A &I H A fafem |
operator & and averaging operator L. Section-B 4x10=40
FEE TN HERE O A FHd THENE p H (Trs—=)
T ferfem Short Answer Type Questions
(1Y ST 99)

(v) Write the formula of Trapezoidal rule.

2. Prove that :

THerstE a1 g3 fafewd
T+A)d-V)=1

(vi) Write the formula of Euler’s method.

ag =iV :
ger faftr =1 1 fafem) T+A)I-V)=1
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3. Find the value of y at x = 9.5, by using Lagrange

interpolation formula for given table :

8 9 10
y 3 1 1 9

3 T WROT w WEEW ¥ ORI % STavE g 9

x=9.5 W y F A A@ HiQ :

8 9 10
3 1 1 9

4. Find the value of y at x = 35 for given table, by

using Stirling formula :

20 30 40 50
512 439 346 243

wfdm ¥ &1 weEa 9 = 9reft g7 oy &1 "
x = 35 % foau 3@ S :

20 30 40 50
512 439 346 243
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1+x
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5. Solve the integral Jo by using Weddle’s rule.

2

Wjé B dew Fem @ e wiR

01442
6. Find the real root of x3 — 3x — 5 = 0, up to four
decimal places by Newton-Raphson method.
FeA-Uwe fafy & wftetor &3 — 3x — 5 = 0 &0
IAfaH A ¥R SUHAd T q% Td RIS |

: : . d
7. Solve the differential equation d—y =y+x;y0)=1
X

by using Picard’s method.
IR HHIHLOT Z—y:y+x; y(0)=1 =1 7@ Tenis

X
fafy | s
8. Find the equation of tangent and normal for
surface xyz = 4 at point (1, 2, 2).
TS xyz = 4% fag (1, 2, 2) R ot aa1 R sAfiers
& FHIHO A hiTe |
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9. Using Green’s theorem, evaluate

'[C(xz + y2 )dx+2xy dy, where C is the boundary

of rectangle x = 0, x = a, y = 0,y = b.

T 9T T FerId 9 Ic(xz +y2)dx+2xy dy =1 9H

T i, Sef C, ™ d x =0, x=a,y=0,y=b
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